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qur‘ 2 9 Match the money to the correct amount.

Money

[0

Name

0 Count the money. £20

£5

| mark

| mark

| mark

0 Tick coins that make 6lp

| mark

e A bag costs £35
A coat costs £62
How much more does the coat cost?
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Who has the most money?

| mark | mark




o Complete the part-whole models.
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o Eva has 80p.

Dora has |12p more than Eva.

2 marks

Circle the coins Dora has.

| mark

o Amir has Y different coins in his money box.
He has less than 60p altogether
Tick 4 different coins which could be in his

money box.

| mark

o Here is a café price list for sandwiches.

Cheese |32p
Egg 2%
Chicken | 35p
Jam | 33p

Tommy buys two sandwiches.
The total cost is 69p.
Which two sandwiches does he buy?

and | mark

Rosie buys a jam sandwich.
She pays with a single coin.
She receives |7p change.
What coin did she use to pay?

| mark

Circle how confident you feel with money.

| 2 3 Y )
Not Very
confident confident



